i H AN K4 gL k2 LR ik

100m T 240 I E(2) 4 fif 10.82 +0.2
T 2 R 2 (2) 5 10.83 +0.2
#2L—2 2 2 i 10.85 +0.5
T 24 R TEEE(2) 8 fir 11.03 +0.2
Ti% 3 HE KO 17 10.83 +1.9
#2L—2 2 8 fir 11.02 +0.5
T 3 WA Am2) 2 fir 10.88 +1.9
Ho 1 —2 2 7L 10.97 +0.5
Tk 45 BEH k& ©) 6 fir 11.09 +0.9
T 5 FHROK—©) 3fr 10.97 +1.0
H2L—% 34 7L 11.13 +1.4
T 8 HH JH  FHKER(2) 141 11.14 +0.8
EH Q) 2 fir 11.14 +0.8

AR BEYR(1) 4 fif 11.33 +0.8

Wil s 6 fir 11.45 +0.8

T 9 i Jr EE(2) 34 11.16 +1.2
TE104 | KE FEQ) 34 11.14 +1.2
I A&X@) 5 fir 11.24 +1.2

A MER(D) 7 11.32 +1.2

HH O E%RQ) 5fir 11.29 +1.5

T2 | LN HRB) 2 fir 11.37 -0.2
T IS | KREFERARQ) 5 11.63 -0.3
ZI Bik(1) 7L 11.66 -0.3

RER Juik(D) 8 fir 11.69 -0.3

TiE16 M | S CHEEAQ) 2 if 11.37 +1.0
TE19M | FH EAQ) 147 11.47 +1.1
R AiE(2) 31 11.58 +1.1

FE204H | AT Q) 34 11.58 +2.1
P21 | dbH (D) 8 fir 12.44 +1.6
TR 2240 | fEE HH(2) 2 fir 11.66 +0.5
IR R (D) 9 fir 12.58 +0.5

200m T 1 AR 2 (2) 6 fir 21.96 +1.7
T 250 wE Am2) 3 21.87 +1.1
Tk 5 i W E(2) 1L 21.93 +1.2
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200m Tig 5l EH BAQ) 3L 22.48 +1.2
Ti% 6 f FHROK—©2) 17 22.10 +1.6
A MEE(D) 31 22.41 +1.6
T 9 JH  FHAHR(2) 17 22.67 +1.0
TE 10K | KB HHE(Q) 17 22.75 +1.3
AR BEYR(L) 2 fir 22.98 +1.3
FEH EAQ) 3 23.03 +1.3
Jo T W 0] 5fir 23.18 +1.3
TR | SAEEAQ) 1 {7 22.55 +2.2
etk A1) 2 fir 23.43 +2.2
TEI2M | EE Bk 5fir 24.23 +1.2
TR 14 | EHEH O RERQ 141 22.94 +1.0
B HHL(2) 5fir 25.01 +1.0
400m T 1 A MR (2) 27 48.93
WE Q) 3fr 48.95
el (03) 6 fir 50.19
T 2 F HEX®O 8 fir 52.63
T 3 i TR (G D) 1z 51.75
110mH T 1A 1T R A ¢)) 3fr 15.25 -1.2
HolL—2 1§ 3 fir 14.95 +1.2
T 250 BA AR 1 {7 15.45 0.0
o L—A 14 7 {if 15.58 0.0
Tis 3 RF B 3fr 16.21 -0.8
110mJH | 7% 148 Hrl BOR(D) 3fr 14.95 +0.5
o2l —= 1 3 fir 14.95 +1.5
400mH T 1 fEm ) 1z 57.57
HAK #EF0) 3fr 58.87
A& Bk TP 1A AR =R (2) 4 fif 6m67 +0.9
TP 3 A TN (0] 10 fir 6m07 +0.7
— Bk w s AR R (2) 6 fir 14m44 +0.6
4X100mR | P 141 JH  FHRER(2) 1 {7 42.15
M EE(2)
WE sUE©Q)
FHROK—©2)
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fEH AN K4 [[=¥ia Gk JRH
100m TEE 1M o EhkEQ2) 5fir 12.60 +0.7
#2L—% 2 2 i 12.37 +0.5
T 2 Kbk Hk(1) 2 fir 12.58 +0.7
#21L—2 2 4 ir 12.50 +0.5
T 2 A BR3(2) 3 12.71 +0.7
Ti% 3 B JAA&Q2) 17 12.38 +0.8
Ha2L—= 14l 8 i 12.38 +1.7
T3 3 M S 6)) 3fir 12.51 +0.8
HoL—=R 14 9 [ 12.60 +1.7
T 3 M ARH HTH(2) 4 fir 12.52 +0.8
B2l —R 28 5 fir 12.51 +0.5
Tk 4 s =) 2 fir 12.91 0.0
T 5 F EO7272(1) 2 fir 12.97 -0.4
/< B A (1) 6 fir 13.28 -0.4
T 6 #i Re #HEQ) 6 fir 13.33 0.0
T 7 MR350 d A >(1) 5L 13.52 -0.3
T 8 i fHE P& Q) 6 fir 13.83 -0.8
T 9 A SEAh(1) 1z 13.25 -0.6
TEI4M | BIL EBREQ) 17 13.84 +0.5
200m T 250 AH #H(2) 2 fir 25.41 +2.2
Kbk k(1) 3fr 25.56 +2.2
Tis 3 KB F22(1) 1 {7 25.61 +1.1
/N % 2(1) 6 fir 26.44 +1.1
T 7 A BhEE(2) 2 fir 26.72 +1.2
T 8 fEH P& Q) 2 fir 27.60 +2.7
T 9 fH L EAR(2) 4 fir 28.08 -0.3
400m T 2 H = HHETH(2) 3fr 57.54
Ea o =) 4 fir 58.17
Tig 3 A K F22(1) 2 fir 59.08
T4 4 Al H2E5(2) (R 1:03.32
100mH T 1A JFREF  JEE(2) 1 {7 14.11 -0.2
oL —A 1l 147 14.09 +1.3
T 1 A Al (1) 2 fir 14.86 -0.2
oL —A 1l 2 i1 14.88 +1.3
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100mH Tig 1 IR 35 d A >(1) 8 fir 15.70
AL 7 Jé 5 2 i AL(2) 1 {7 13m29

=N () 4 fir 11m45
REEEEe 7 Jé 5 2 L AL(2) 3fr 36m25
4X100mR | 7 14 st F=(0 1 {7 47.87

/NS % 2(1)

Kbk Hk(1)

HI L)

A FTH2) 2 fir 48.02

A BR3E(2)
R REQ)
w5 Ei#EQ)

STAN () 6 fir 50.57
Al HE5(2)
= HHETH(2)
dA BrE(2)
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